Index

No. Part No.
1. 14-100725-000
2. 11-655016-000
3.  14-100090-000
4. 11-012056-015
5. 11-655015-000
6. 14-100025-000
7. 11-655026-000
8. 11-655044-000
9. 14-100791-000
10. 11-655082-000
11.  11-655052-000
12.  14-100430-000
13.  14-100437-000
14. 11-655063-000
15.  11-655015-000
16. 14-100942-000
17. 11-655065-000
18. 11-655028-000
19.  11-696945-000
20. 14-100580-000
21. 14-100430-000
22. 11-282003-004
23. 14-100478-000
24. 11-655048-000
25. 11-655024-000
26. 11-655006-000
27. 14-100802-000
28. 11-006095-000
29. 14-100755-091
30. 11-191753-000
31.  11-170005-015
32. 11-006061-015
33.  11-199002-015
34. 11-655058-000
35. 11-185257-000
36. 11-199003-015
37.  11-199005-001
38. 11-006178-001
39. 11-625600-000
40. 11-655029-001
41. 11-655079-091
42. 11-655007-000
43. 11-655054-000
44, 11-655040-000
45,  14-100323-000
46. 14-100789-000
47. 14-100071-000
48. 11-655040-000
49. 11-696944-000
50. 11-655054-000
51. 14-100783-000
52. 14-100784-000
53. 14-100788-000
54. 14-400481-000

Description

Solenoid Valve w/Connector Assembly (24VDC)
Filter/Muffler

Mounting Bracket

Screw (#8-32 x 1/4)

Male Fitting (1/4 Tube x 1/8 NPT)
Vent Overflow Line Strainer

Swivel Elbow Fitting

Line Strainer (200 mesh)

Conditioner Tank Assembly - complete
45° Elbow Fitting (3/8 tube x 3/8 stem)
90° Elbow Fitting (3/8 tube x 3/8 stem)
Grommet (modified)

Conditioner Tank Cap

Straight Fitting (1/8 NPT)

Straight Fitting (1/8 NPT)

Liquid Level Sensor

Pressure Dial (0-6 PSI)

Swivel Fitting - male (1/4 x 3/8 NPT)
Sensor Pressure (100 PSI)

Foam - Conditioner Tank Neck
Grommet (tank)

Tubing (3/8 O.D. x 6-1/27)

Line Strainer Assembly

Connector Fitting (3/8)

Line Strainer (40 mesh)

Fitting (3/4-16 to 3/8 NPT)
Conditioner/Pump Mounting Bracket
Button Head Cap Screw (#10-24 x 1-1/4”)
Conditioner Pump w/Fitting Assembly
Washer (1/4)

Lock Nut (#10-24)

Button Head Socket Cap Screw (#8-32 x 3/8”)
Lockwasher - Internal Tooth (#8)

Tool Holder

Standoff (#8-32 x 1-1/4”)

Lockwasher - Internal Tooth (#10)
Lockwasher (1/4)

Button Head Cap Screw (1/4-20 x 1/2”)
“O” Ring

Filter

Compression fitting (3/8 NPT)
Accumulator Diaphragm

Straight Fitting

Swivel Elbow (male)

Injector

Conditioner Rail w/Connector Assembly
Rail - Accumulator

Fitting (3/8 tube to 3/8 NPT)

Coolant Temperature Sensor

Fitting Straight (1/4 x 3/8 NPT)
24VDC Solenoid Valve Assembly
24VDC Conditioner Tank Vent Valve
Conditioner Rail Heater

Conditioner Filter Assembly

Conditioning Delivery System

2C

November 2014



Conditioning Delivery System

3C

November 2014



